


• Two positions of dice are shown. What will appear on the opposite to the face 

containing 4? 

• पासा की दो स्थिस्ियाां स्दखाई गई ह ैिो ज्ञाि कीस्िए की 4 के स्िपरीि सिह पर क्या होगा?
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• Statement:     No colour is a paint.
No colour is a varnish.

• Conclusion:     I. No varnish is a paint

II. At least some varnishes are paints

A. Conclusion I follows.

B. Conclusion II follows.

C. Either conclusion I or conclusion II follows.

D. Both conclusion I and conclusion II follows.



•K_NUM_L_U_MKLN_ _

A.KNUML

B.KUNLM

C.CUNKML

D.LKNUM



• 23 : 29 :: 12 : ?

A.14

B.15

C.13

D.19



• Pointing to a woman, Abhijit said, "Her granddaughter is the only 

daughter of my brother." How is the woman related to Abhijit?

• एक मस्हला की ओर इशारा करिे हुए अस्ििीि ने कहा, "उसकी पोिी मेरे िाई की 

इकलौिी बेटी ह।ै" िह मस्हला अस्ििीि से स्कस प्रकार सांबांस्िि ह?ै

(A)  Sister

(B)  Grandmother

(C)  Mother-in-law

(D)  Mother



•Amit said - "This girl is the wife of the grandson of my mother". How 

is Amit related to the girl?

•अस्मि ने कहा - "यह लड़की मेरी मााँ के पोिे की पत्नी ह"ै। अस्मि का लड़की से क्या 

सांबांि ह?ै

(A).Brother

(B).Grandfather

(C).Husband

(D).Father-in-law



• Pointing to a woman, Kamal said, “She is the only daughter of my wife’s 

grand father’s only child.” How is the woman related to Kamal ?

• एक मस्हला की ओर इशारा करिे हुए कमल ने कहा, "िह मेरी पत्नी के दादािी की इकलौिी 

सांिान की इकलौिी पतु्री ह।ै" मस्हला कमल से स्कस प्रकार सांबांस्िि ह?ै

(A) Father

(B) Daughter

(C) Wife

(D) Husband



•In a certain language, KUNAL is written as MWPCN, 

then how is KISHORE  written in same language?

• स्कसी िाषा में KUNAL को MWPCN स्लखा िािा ह,ै िो उसी िाषा में 

KISHORE को कैसे स्लखा िाएगा? 

(A) MKJUTQG

(B) KMUJTQG

(C) MKUJQTG

(D) MKUJQGT 



• If VIMAL is coded as ERNZO and KARAN is coded as 

PZIZM. How BRAVE written in that code ?

• यस्द VIMAL को ERNZO के रूप में कोस्िि स्कया िािा ह ैऔर KARAN को 

PZIZM के रूप में कोस्िि स्कया िािा ह।ै उस कोि में How BRAVE स्लखा ह?ै 

(A) YIZVE

(B) YIZEV

(C) YZIEV

(D) YVZIE  



• There are five friends. They are standing in a row facing south. Jayesh

is to the immediate right to Alok. Pramod is between Bhagat and 

Subodh. Subodh is between Jayesh and Pramod. Who is in the Middle 

?

• पााँच स्मत्र हैं। िे दस्िण की ओर मखु करके एक पांस्ि में खडे़ हैं। ियेश, आलोक के ठीक

दायें बैठा ह।ै प्रमोद िगि और सबुोि के बीच में ह।ै सबुोि, ियेश और प्रमोद के बीच में 

ह।ै बीच में कौन ह?ै
(A) Bhagat

(B)Subodh

(C) Jayesh

(D)Pramod



• 23 : 576 :: 16 : ?

A.289

B.225

C.256

D.361



Seven friends P, Q, R, S, T, U and V are seated in a row facing north. P 

is 4th left or right of Q and both are not at any end. T & V are immediate 

neighbors. P is not the neighbour of U. S is 2nd right of R and 3rd right of 

T. Who is 3rd right of V ?

साि स्मत्र P, Q, R, S, T, U और V एक पांस्ि में उत्तर की ओर मखु करके बैठे हैं। P, Q 

के बायें या दायें चौिा ह ैऔर दोनों स्कसी िी छोर पर नहीं हैं। टी एांि िी ित्काल पड़ोसी हैं। 

P, U का पड़ोसी नहीं ह।ै S, R के दायें से दसूरे थिान पर ह ैऔर T के दायें से िीसरे थिान 

पर ह।ै V के दायें से िीसरा कौन ह?ै

(A) Q

(B) S

(C) P

(D) None of these 



• The ratio of the monthly incomes of three employees, Saloni, Reema

and Kalyani, is 54: 21:59, respectively. If Reema's annual income is 

₹5,04,000 then what is the sum of Saloni's and Kalyani's annual 

income?

• िीन कममचाररयों, सलोनी, रीमा और कल्याणी की मास्सक आय का अनपुाि क्रमशः 

54:21:59 ह।ै यस्द रीमा की िास्षमक आय ₹5,04,000 ह,ै िो सलोनी और कल्याणी की 

िास्षमक आय का योग स्किना ह?ै
A. 27,21,000

B. 21,72,000

C. 21,27,000

D. 27,12,000



•How many Rectangle in this Figure ?

A. 60

B. 70

C. 90

D. 100


